DO NOW

Solve 3(2b+1)-7=50
bb+3-7=50
eb-4=50
blb=50+4
blo= 34
b=%
b=9)

Practice:

1. 9y-7=5y+5 2. x-7=13-4x

U-7-5¢=5 X=T+4x =13
L,\[ _'_} :,5 /X+ Lh( = l?)-\‘_]
L*‘\ = IQ_ % :%)
I (=4
5.3a+(2a-5)=13-2(a+2)
3a42a—5=13-20-4
50-5 = A"2a
ba-5+2a =9
SutZa=G +5
7(13\‘_,3 Check:
=3 B0 +{Za-2>|13-2(0r2)

[Q:LS 3 @@ D\3- 2 (242)
6+ -3 -2
b—\ V2 -9

515

2.1 Seolving Linear Equations - Day 4

Recall: An equation is like a: ba(an(ec[ Scale
o maimLam bOL[MCe
+* lA)hlaJr is "done 4o one side mast be
\0‘07\6” to 'Hﬁe O'H\Ql"-
* Use Inverse operation ™ wndo what was

one” 1 the variable n reverse order
#* Eliminate + and — before X or =

% Chminade () and simp\i& Fst

% Use + or — 10 Group variable terms o
one Side and “constants 1 Hhe other.

3. 8k-36=-4k 4. 8m-3=5m-m
-3b=-Y4-3K Bm-3=lUm
“3b="l2k -3= Hm—%m
-3k _ 2
—_l—2 _K _33 L\VY\

3=k "
R .

BK 36+ 4 =0 it

BK+Hk=0+2b
12k =30

K:%
k=3

HOMEWORK

Worksheet - HW 2.1 Day 4



